[ SUPPORT CENTRAL POUR TRACTEUR T
VOIE VARIABLE 1m40

R111E140 (2026502)

20105

NTEC0130

')

7
0
9

Code Référence

\
I NOMENCLATURE |

Désignation

2206543 TEC019600

Bati central tracteur T

220654944 TECO025100

Poutre inter. bati central

T voie 1m40

A7Z7V*02*16*060*2

Vis HM 16 X 60 FP AZI

AZ7R*01*16*2

Rondelle M 16 AZI

A7V *02*20*060*2

Vis HM 20 X 60 FP AZI

AZ7E*O1*16*2

Ecrou H M 16 AZI

AZE*O01*20*2

Ecrou H M 20 AZI

AZ7R*11*16*2

Rondelle Gr M16 AZIL

O|O(N|O|UN|DWNK

AZ7R*11*20%*2

Rondelle Gr M20 AZI

;mAc\Ac\AAHug

AZ7R*01*20*2

Rondelle M 20 AZI

>3

REF PL: 99029013

Date: 24/03/2014 r_;errqnd g

+33 4 68 4777 90
B ferrand-sas@orangefr



ETS FERRAND
F

ETS FERRAND
F

ETS FERRAND
logo


